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<B¥ H#E>

#o[ No. B®T4 R4 EPAT P L3S kIS B Gt
1 1 Bl K AKX 2 0.000 2.600 0.000 1.700 4.300
2 Be NIV AKX 2 8.850 2.700 9.200 1.800 22.550

3 A AR AK 2 7.700 2.000 8.900 1.500 20.100
BEST 3 16.550 7.300 18.100 5.000 39.650

<B¥+ EA1E>

| No pEISETA R4 AR SY/N L3S Bk 7N Gt
2 4 ey Ende 2 11.500 9.500 11.500 10.800 43.300
5 WO ESE [E5y < 1 10.050 5.100 9.600 8.200 32.950
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< BrH&EEFHE>

JEAE T4 P k5 BTN ES At R
1 AKX 16.550 18.100 5.000 39.650 -
<BFEAREERFHE>
AL | No. B’T4 FR A AR YN ¥5 2958 etk At
1 4 JEEE B mEadt 2 11.500 9.500 11.500 10.800 43.300
2 5 wO b [E 43 =F 1 10.050 5.100 9.600 8.200 32.950
3 2 BB JrEs AKX 2 8.850 2.700 9.200 1.800 22.550
4 3 ha A AKX 2 7.700 2.000 8.900 1.500 20.100
5 1 ¥ thK AKX 2 0.000 2.600 0.000 1.700 4.300
<BTEBRIRFHE>
<wph> <BEKE >
JNEAZ | No. pEi=Ep FRA T AR NEQZ | No. BFE4 TR =X I Y=Y
1 4 T [y A 2 | 11.500 1 4 T RN Rl 2 | 11.500
2 5 wH e (=55 <F 1 |10.050 2 5 O RE [E 55 =F 1 9.600
3 2 B oi® PPN 2 | 8.850 3 2 B i PPN 2 | 9.200
4 3 =y} AKX 2 8.900
<EK> < @REE>
AT | No. BFEAH F FE| A JIERT | No. BFEA4 4 FE| A
1 4 R B ke 2 | 9.500 1 4 oy ik 2 110.800
2 5 W HEE =4y 5 1 5.100 2 5 o HEsk [ 4yF 1 8.200
3 2 BB e AKX 2 | 2.700 3 2 FoE e AKX 2 1.800
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R5.10.14 £ @it m S
JEAE T4 BES KR YR At R
1 X K 28.050 25.800 20.450 74.300 -
<KTFEAREBRTFHE>
JEAT | No. BT FR A AR Bk 2= N RIS SN P aF
1 4 wH KE mEade 1 11.950 9.350 12.050 10.700 44.050
2 6 T A S 2 12.050 8.650 12.200 10.550 43.450
3 5 i) 3 mEadl 1 12.100 7.700 11.900 11.000 42.700
4 2 VEIRE O NP N 2 9.300 7.350 10.500 9.350 36.500
5 3 A ER A K 2 11.100 6.400 11.400 7.100 36.000
6 1 Blh e NIPN 2 7.650 3.300 3.900 4.000 18.850
7 7 U Y EECLA 2 0.000 7.300 10.650 0.000 17.950
8 11 g B PN 1 0.000 2.850 4.100 0.000 6.950
9 9 ML B A K 1 0.000 0.650 2.400 0.000 3.050
10 10 W& A x A K 1 0.000 1.600 1.300 0.000 2.900
11 8 I RERE A K 1 0.000 0.000 0.800 0.000 0.800
<LZTFHEERRFHE>
<BkE > <E¥HE>
JERZ | No. RFAL E2iZd E2 S G Y JIERT | No. BT E2iZd AR A
1 5 Pl e ksl 1 | 12.100 1 6 | WMT BIERL ESR 2 | 12.200
2 | 6 | BT #iEA ESg 2 |12.050 2 | 4 dHORE rfrdl 1 | 12.050
30 4| W ORE Ll 1 [11.950 3] 5 Pl mfn e 1| 11.900
<BEW> <>
JMERZ [ No. BT g2z 2 I JIEAZ | No. REL A4 A A
1 4 wH ORE e 1 ] 9.350 1 5 Fak W =Y 1 | 11.000
2 6 | AT B S 2 | 8.650 2 4 BH KR s 1 |10.700
3 5 [ G2 Ak 1 | 7.700 3 6 | T RS S 2 | 10.550
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<z¥ H#&E>
BRFEA FAA A OB BhgEN RN P HEt
7 A K 2 7.650 3.300 3.900 4.000 18.850
(IO NIV 2 9.300 7.350 10.500 9.350 36.500
HH OHEH KK 2 11.100 6.400 11.400 7.100 36.000
0 0 0 —
BEST 3 28.050 17.050 25.800 20.450 74.300

<&+ @BAA>
BFEL FAA A B B Ry P> Ait
W ORE 21 1 | 11.950 9.350 12.050 10.700 44.050
VElE s 1 12.100 7.700 11.900 11.000 42.700
AT BiER £ ¥ 2 12.050 8.650 12.200 10.550 43.450
Ik 2R LA 2 0.000 7.300 10.650 0.000 17.950
BFEL A A BB Bhgn Ry P G
I RAE A K 1 0.000 0.000 0.800 0.000 0.800
R B2 A K 1 0.000 0.650 2.400 0.000 3.050
Wk A xnt NIV N 1 0.000 1.600 1.300 0.000 2.900
Tk Bk A K 1 0.000 2.850 4.100 0.000 6.950




